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Calculus Name:SOLV\—L\OV‘\E m

lFind F'(x).
1. F(x) = [ t3dt 2. F(x) = [, 5dt 3. F(x) = [7 (4t — t?) dt

Foy= X FeO=9 F)=4x =

4. F(x) = [ cos(t) dt 5. F(x) = ffchdz 6. F(x) = f:zsin(t)dt
F/()c) o= ()E‘j' . Ao F,b‘) — IS5 (x%
Md=cesx| | [Floey= 2/




Find F' ().

7. F(x) = J;r

sinx1

—-dt
t

_ o\
F/(X)——s-::x '(.QS)(

FON= cotx

8. F(x) = [ 3Vidt

FH)=6x"

9. F(x) = j’;x 2t dt 10. F(x) = J’ota“ t2dt

FOO2m3

F’Oc): g x F6)=taix sed’x

11, FGo) = [ tan(0) de

P =don ) ¢

12. F(x) = f,f(x) sec(t) dt

13. F(x) = [ f(t) dt

F)= 250x)

F)= octan()

F )=o) Sec(%%

14. F(x) = [*"(at + 1) de

F'(d=3

15. F(x) = [* ,(3t — 1) dt
FO)=¢® 2y
) _Sff& D&SE ié*;}’”‘
FOijz—f‘(}t—l) +( (3t-1
F< :—(y,zdi.[_laqt ()
FO)=—6:3 + x —|

16. F(x) = [* t3dt

Fl=0

17. F(x) = [, t?dt

=4 + S8
== 4 4 ¢ | F )=
Fb)=-(36) ¢ A

18. Use the function f in the figure and the function g defined by g(x) = f; f(©)dt.
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a) Complete the table
x 0 1 2 3 4 5 6 7 8 9 10
g® | O -1 |=X =3 F35|-3 [7I5]| O |o.5| O |-I.§
b) Plot the points from the table in part (a). o
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| From #18 on the previous page.

c) Where does g have its minimum? Explain.

x=4 because g'(x) [which is the
same as f(x)] changes from
negative to positive.

d) Which four consecutive points are collinear?
Explain.

x=0, 1, 2, 3, because g'(x) is
constant, giving a linear relationship.

e) Between which two consecutive points does g increase at the greatest rate? Explain.

Between x=6 and x=7 because this is where
there is the most positive area under the curve.

19. Use the function f in the figure and the function g

defined by g(x) = foxf(t) dt to answer the
following questions.

a) Find g(4).

b) At what x-values does g have a minimum?

x=0, 55

X-values does g have a maximum?
=3 7
d) Let h be the function defined by h(x) = {::i

50 )R +0) — SG)

c) At what

Find h'(3).
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20. Use the function f in the figure and the function h

defined by h(x) = f:f(t) dt to answer the following
questions.

a) Find h(5).

—)+y 1-3.4.'9/’_ . 2 -\-,\ﬁ_

b) At what x-values does h have a minimum?

X=2ay ¢

c) At what x-values does h have a maximum?

X=0, b5

d) Let g be the function defined by g(x) = f(x)(x* -

NNz F Y =3+ 5(x) | 3>)

SIOEDN+ M (D

3). Find g'(1).

= (VA + ()=




21. H(x) = L:;,ztcos(t) dt for 0 < x < 2m.

a) Determine the critical numbers of H(x).

W=e of Y ove
X Cos(x)=O

X=o

b) Determine which critical number corresponds to a relative maximum value of H(x). Justify your answer.

H”)= os () =< S
H"(2)=

\
W &)= o-%(\ WE

o (e5%=O

X:X or X33j5_

-0-(3%)

X:-%_ 1S o~ rove We
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c) Determine which crmcal number correspon stoa relatwe minirium value of H(x). Justify your answer.
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Test Prep: 1D, 2D, 3C, 4C, 5A, 6D

Free Response Scoring Guide

Use this only AFTER you have attempted the problem on your own.

Solutions

Points

() g(s}zjif(r)dr=6+4—1=9

() g'(x) = f(x)

The graph of g is increasing and concave down on the
intervals —5 < x < -3 and 0 < ¥ < 2 because g’' = [ is

positive and decreasing on these intervals.

Sxg'(x)—g(x)5  Sxg'(x)—35g(x)

(c) W(x)=

(5¢)2 - 252
1(3) = (ﬁ)(B}g’(B}: 5g(3)
2532
_15(=2)-5(9) _ -75 _
- 225 T 225 3
@ p'(x)=7(x* -x)2x-1)

P(-1) = F'(2)(-3) = (-2)(-3) = 6
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| 1 :reason

. _%’2: h(x)
~ | 1: answer
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